2) You may NOT have a radical in the denominator

Unit 9 Day 3 Notes on Multiplication and Division of Radicals
Two rules: Examples:

Job =Na-{b Ja3 =443 W&AMP

oV,
and = and " g st
\]1 - & 25 @ ot
b~ b e 5
J6-10 = J O 225" y? |32y 2 \5 b4 x®
= {05 Vo IX J
3
16 %2y

What does it mean to ‘simplify’ when it comes to radical expressions?
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How to we “get rid of” the radical in the denominator? W\\/‘\‘hp"‘] num. AM’ wnom what )IOM

Let’s try Multiplying:
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This process is called Rationalizing the Denominator. wiant o <limengie.
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Let’s try Dividing: -
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